1979

NEW I TEMS - PRICE LIST
Art .No. DM
2000 ALOUETTE 2, Standard 500.-
2500 ALOUETTE 2 WITH COLLECTIVE PITCH 750.-
3000 BELL JET RANGER 1000.-
20 S Standard Fuel Tubing, black, 164 ft per spool 60.-
21°S Silicone Fuel Tubing, 82 ft per spool 60.-
39 Glow Plug Connector, new 10.-
134 Plastic Clamp for Angle Measurement 10.-
135 Glow Plug Connector with Battery Holder 15.~
135a Charging Cable 15.-
136 Mixer for V-Tails etc., (1 Pc.) 10.-
137 Helicopter Book 25.~
3080 Mixer for Helicopters (2 pcs.) 20.-
200 KAVAN Trainer . 750.-

69 Turnbuckle with Snap Link

70 Turnbuckle with Threaded Coupler % 2.-



_— - ) ) )
X X X X X

- e e LA N S e e e e el e e e e
X X X X X X X X X X X X X X X

PR (T S s T S G G G G
X X X X X X X X X X X X X

ALOUETTE 2, RIGID ROTOR MODIFICATION KIT, Art.No. 2000 R - without
Stabilizer Rod and without the Paddles (without Collective Pitch)

DM
2205 R Rigid rotor head without collective pitch 50.
3513 Bell crank 2:1 10.
2220b Lead weights 4,
2225 R Set for collective pitch (consisting of # 3513-b) 12.
2076c  Push rods with 4 ball joints, without brass balls 6.

82.

ALOUETTE 2, COLLECTIVE PITCH MODIFICATION KIT, Art.No. 2500a -
with the Stabilizer Rod and with the Paddles

DM
2220a Main rotor blades for collective pitch 25.
2221 Blade mounts with seesaw, @ 7 nm axle 140.
2221d  Screws M 4 x 16 mm with nuts 1.
2221e  Seesaw, compl., @ 4 nm and Hiller lever 45,
3080 Mi xer 20.
2223 Hub with metal bushing 25.
3505 Bell crank 1:1 3.
3326 N Rubber damper 5.
3320b Double ball joint, plastic 5.
2508a Double ball unit b,
3324a Ball joints 20.
3329 Wash-out control : 25.
3303f Bearing bolts, @ 8 x 26 nMmm and @ 4 x 19 mm 2.
2225 Set for collective pitch (consisting of # 3513-b) 12.
2076a Push rods, assorted 6.

338.
ALOUETTE 2, RIGID ROTOR MODIFICATION KIT, Art.No. 2500 R- without
the Stabilizer Rod and without the Paddles (with Collective Pitch)

DM
2220a Main rotor blades for collective pitch 25.
2220b Lead weights 4,
2221d Screws M 4 x 16 nm with nuts 1.
2222 Rigid rotor head with thrust bearing 180.
2224 Hub, rigid, with metal bushing 20.
3326 N Rubber damper 5.
3080 Mi xer 20.
2508a Double ball unit L.
3324a  Ball joints » 20.
3513 Bell crank 2:1 ) 10.
2076b  Push rods, assorted , 6.
2225 R Set for collective pitch (consisting of # 3513-b) 12.
3303f Bearing bolts, @ 8 x 26 Mm and @ 4 x 19 mm 2.

309.



X X X X X

XX X X X X X X X

X X X X X X X X X X X X

X X

x X

X X X X %

x

xX X

3149
3149c
3149d
3149%e
3150

3101a
3101b
3302c
3312a
3317a
3320

3320b
3326 N
3303f

3303
3303e
3312a
3513
3513a
3513b
3080
3040
3040a
3326 N
3076a
3303f

3114a
3204a

3040
3040a

3513
3513a
3513b

3506a
3507a
3080
3201a
3078
3079
3038b
3038¢c

NEW JET RANGER PARTS

New Clutch consisting of: BM

Clutch 50.-

Timing belt, 12 mm 12.50
Alu-tining belt gear, small 12.50

Split cones, assorted 10.-

Clutch bell housing with shaft 50.- 135.-
New Main Rotor Head with Collective Pitch consisting of:

Hub 20.-

Bearing holt 1.-

Blade mounts with seesaw, @ 7 mm axle 120.-

Screws M 4 x 18 mm and nuts 1.-
Stabilizer rod, @ 5 mm ' 12.-

Seesaw, compl., and Hiller lever 45.-

Double ball joint, plastic 5.~

Rubber damper 5.-

Bearing bolts, @ 8 x 26 mMmand @ 4 x 19 mm 2.~ 211.-
New Main Rotor Head, Rigid, Art.no. 3000 R consisting of:

Rigid rotor head with thrust bearing 150.~-

Hub, rigid 20.-

Screws M 4 x 18 mm and nuts 1.-

Bell crank 2:1 10.-

Bearing block 10.-

Swash plate anti-rotate bracket, long 6.-

Mixer 20.-

New expert main rotor blades 30.-

Lead weights 5.-

Rubber damper 5.-

Push rods, assorted 6.-

Bearing bolts, @ 8 x 26 mmand @ 4 x 19 mm 2.~ 265.-
Metal spur gear, new RPM drive-train 7.50

Plastic spur gear, new RPM drive-train 10.- 17.50
New expert main rotor blades 30.-

Lead weights 5.- 35.-
Bell.crank 2:1 (4 pcs.) D hew Control 10.-

Bearing block D) hardware set 10.-

Swash plate anti-rotate bracket, long ) 6.- 26.-
Pitch angle lever 8.-

Pitch lever 8.- 16.-
Mi xer 20.-

Main rotor shaft, hollow 20.-

Steel wire landing skids ) 25.-
Horizontal stabilizer control set 15.-
Levelling fixture with ball bearing® 50.-

Ball bearing unit with screws and bushings for # 3038b 20.



NEW [TEMS IN THE LINE OF MODEL  ACCESSORIES

Standard Fuel Tubing, black, art.no. 20 S
Now available in running feet on spools (164 ft per spool).

Silicone Fuel Tubing, art.no. 21 S
Also available in running feet on spools (82 ft per spool).

Glow Plug Connector, art.no. 39
Lately developed, with unique and shortproof internal connector unit. The newly

designed plastic housing with long, cylindrical extension fits even into the
glow plug recesses of deeply finned race car heat sinks.

Spare Soft Nose Rubber, art.no. 4ha
For our Spinners, art.no. 4h through 53, improved rubber material.

Plastic Clamp for Angle Measurement, art.no. 134
The clanp is ideally suited for measuring blade angles on any helicopter. Included
is a spirit level and a plastic angular template of 6, the maximun blade angle

for most helicopters.

Glow Plug Connector with Battery Holder, art.no. 135
Derived fram our Glow Plug Connector, art.no. 39 with the same features, plus a

battery holder for dry cell or appropriate Nicad.

Charging Cable, art.no. 135a
For the Glow Plug Connector, art.no. 135.

Mixer, art.no. 13b
Adapts to any rotary servo disk on the market, with muitiple application, such

as deltas, V-tails, combined ailerons/flaps, etc.

Mixer, art.no. 3080
Also suitable to any rotary servo disk; applicable for helicopters for mixing the

collective and cyctlic pitch.

Helicopter Book, art.no. 137

This book is a must for the serious helicopter modeller because it covers the
entire area of model helicopter flight, including the aerodynamic principles.
As it was written In English, it is just right for you; see special leaflet.

KAVAN Trainer, art.no. 200
Contact your dealer for leasing information; see spécial leaflet.

§



